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ECONOMICS
( Major )

Paper: 6.6

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the guestions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

oS Ty Wmﬁ'ﬂ:

(@) Give the full form of NITI Aayog.
S SIS F=ojef o1 6 2

(b) Mention one basic objective of the
Twelfth Five-Year Plan of India.

i B L (0 o G | B 1 o T
Ty 90 |
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(2)

(c) What is the female literacy rate of
Assam as per 2011 Census?

055 B RS SR SemE wiREN
STrFgoR 29 91 2

(d) What do you mean by sex ratio?
R51 e Ifereal 6 @ 2

(e¢) What is the population of Assam
according to 2011 Census?
205 B CEREE o ST TPIRAIN
7R e 2

(/ What do you mean by globalization?
R Jfereat 6 3= 2

(g) Which Plan accepted the strategy of
inclusive growth for the first time?

& AeEare AYEET AqAE SHES  SHIA
CFTIET 239 1 C2%ET ?
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(3)

2. Answer the following questions : 2x4=8
were Al eppiRs Ted foe -

(a) Mention two major failures of the
Twelfth Five-Year Plan.

Al RIS FfREEaE 1o g ReereN
PR SCEY 40

(b) Mention two adverse effects of Jhum
cultivation.

I FRI 75! =iz SeEy 4 |

(c) What are the two main objectives of
the Prime Minister’s Jan Dhan
Yojana?

ARG T @SR Yo1 24 SR
TE 901

(d) What do you mean by inclusive
growth?

TS Srm e T 2
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(4)

3. Answer any three of the following
questions : 5x3=15

oot T eRpTRd R e fofiom Tes forr

(@) What are the main objectives of
decentralized planning in India?

cRoe  Rpdlge ofReEIR 2
SR 1 2

(b) What is the structure of NITI Aayog?
TS SCEE Mo FEEReT 2
(c) Give an idea of the growth rate of per

capita income of the Northeastern
States.

Ted- IR e TR S %9 79
o @Ol qRe faE |

(d) Discuss the impacts of globalization
in Indian economy.

TATT AT CIFRFTR  ASRYZ
SCETTOATl ] |
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(5)

(e) Distinguish between Foreign direct
investment and Foreign portfolio

investment.
gorw @R R W P
I RsR were e f&@: |

(// Why were economic reforms
introduced in India?

SRee 5 A AT IS 91 (2% 2

4. Answer the following questions : 10x3=3(Q

el 2] Ol fopl

(a) Discuss the main causes of slow
growth of industry in Northeastern
States.

TR IR Y27 FRTCER SHCAB 3541 |
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(6)

Or / {1

In what respect the economic
characteristics of North-East region
is different than that of the Indian
economy? Discuss.

Teg-o[iwe] wtafes @ErmR ¢ Rewe
SO FYLANES(F AT 2 AL A1 |

(b) Give a comparative analysis of the
development experiences of the
Northeastern States in regards to
human development.

A CEER cpge Sed-o[{%eE AP
W1 T TEER e R
SSRCEHAT |

Or / 91

Give a brief summary of foreign
trade policy of India before and after
economic reforms.

T ARy o {3 SF S TR TSI
AT Aiferen ST @b 5 TR = o
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(7))

() What is shifting cultivation? What
are the problems related to shifting
cultivation? Explain.

FARRe S BF? wWR e e
SecaR 6 5 2 am=m w4

Or / 971

Do you think India’s Five-Year Plans
are able to achieve the targets? Give
reasons for your answer.

SR AT ciRewepwz MRS
TS TS 77 Nfce i o SR 2
CONR TG o[ TR W=t |

L & & 4
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